

SYNTHÈSE DE LA SYNTHÈSE

$$[f_0 * 2^{(1 / 1200)} * 8^{\text{ve}} / 8_{\text{ve}}]$$

$$\underline{2^{(0/1200)}} \text{ (de 1 à 99 } f \text{ non tempérée)}$$

$$\underline{440 * 2^{(0 / 1200)} * (2) / (1)}$$

$$\underline{440 * 2^{(0 / 1200)} * (1) / (2)}$$

$$\underline{2^{(1/1200)}} \text{ (1 centième de 1/2 ton)}$$

$$\underline{440 * 2^{(50/1200)}} \text{ (50 centièmes de 1/2 ton : soit 1/4 de ton)}$$

$$\underline{440 * 2^{(-900/1200)}} \quad \underline{440 * 2^{(-850/1200)}} \text{ (recherche d'une autre } f \text{ tempérée ou non)}$$